Dawson College: Introduction to Statistical Methods: 201-922-DW-S1: Fall 2015

Test 1
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This test is graded out of 35 marks. No books, notes or cell phones are allowed. You must show all your work

Question 1. (5 marks)

In a highschool graduating class of 100 students, 54 studied mathematics, 69 studied history, and 35 studied both
mathematics and history. If one of these students is selected at random, find the probability that (use a Venn

diagram if you would like)

a. the student took mathematics or history;
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b. the student did not take either of these subjects,
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c. the student took history but not mathematics.
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Question 2. (10 marks)
Find the number of different ways of:

a. forming a 5-player hockey team from a group of 10 people;

IOCS e~ __2__5_2-.

b. seating 10 people in a row of 12 seats;
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c. selecting a lunch consisting of a soup, sandwich, dessert and drink if there are 3 choices of soup, 4 choices of
sandwich, 2 choices of dessert and 5 choices of drink.
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d. ordering the letters in the word SUCCESSFULLY
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e. selecting a 5-card hand including exactly two aces from a standard deck of 52 cards
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Question 3. (5 marks)

The probability that a doctor correctly diagnoses a particular illness is 0.7. Given that the doctor makes an incor-
rect diagnosis, the probability that the patient files a lawsuit is 0.9. What is the probability that the doctor makes
an incorrect diagnosis and the patient files a lawsuit.
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Question 4. (5 marks)

Calculate the sample mean % and the sample standard deviation s of the following sample of final grades from last
year’s statistics class:

8 92 35 61 71 8 95 56 78 76
82 62 44 55 78 8 8 21 98 79
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Question 5. (5 marks)
A student guesses at each of the 5 questions on a multiple choice quiz. If each question has 4 choices (1 correct,
3 wrong), find the probability that the student passes the quiz.
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Question 6. (5 marks)
Consider the following Venn diagram illustrating events A, B and C in the sample space § = {1,2,3,4,5,6,7,8,9}.

List the elements of the following events.
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